Chapter 1 - Introduction

Problem 1.1 pi:= 4atan(1) pi = 3.142
l,, := 100 T —8310 ° 3
P o= T := 16.67-10
'p
IRMS = 7 Irms = 70.711
o
lave = 20 IavG = 63662
Problem 1.2
Ip = 100 k=05 T:= 166710 °
. K
'Rms = 1p |5 IRms = 50
'p
'ave = Iavg = 31.831
tp=0 t)=0
T -3
=7 t, = 8.335 x 10
-3
To=kT T, = 8335 x 10
b
f1=2py 07=0
.
0= 2-pi- 0, =3.142
Iy %2
IavG = Z_DIJ sin(x) dx
01 lavG = 31.831
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Problem 1.3

Ip =100 k:=0.8 T:= 16.67-10 3
t; = T-(L-K) t; =3334x 10 °
T -3
To= kT T, = 0013
K sin[To~(1 - k)] cos[pi-(1 — k)]
| =1 =+ | = 63.273
RMS = Ip" |5 20 RMS
t
01:=2pi 04 = 1.257
t
0= 2pi— 0, = 3.142
Iy %2
IavG = Z_K)I,[ sin(x) dx
0, IavG = 20.834
Problem 1.4
-3
Ip =100 k:=04 T:=1-10
T = kT T —4x10 4
o=k 0=4x
[ = 1 +[k
IAVG =40
Problem 1.5
I, := 80 I, == 100 ki=04  Ti=110°
T = kT T,=4x10 °
o=k 0=4x
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IRMS =

2 2
K (Ib + Ia'b + |a )

3 IRms = 57.038
1
E-k-T-(lb - |a)
IAVG = kla +
Problem 1.6
-3
Ip =100 k:=04 T:=1-10
To=kT T, =4x10 *
o=k 0=4x 0
k
1
_.|<.'|'.|p
lave = — lave = 20
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